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One who picks up a nax°x» for his friend, his friend acquires it

OVERVIEW
moon will explain that the rule of 71°2m 7P 19°2n% AX°¥H 72w does not
contradict the rule of 71p X% 2°RY 20w 2P 1'"vaL ooIn.

mdoIN anticipates a difficulty:
— (MR NN M7 OWI 2,79 97 MN3) AMIN P92 1IN 2299 NPY NIONRT 21 Y GN)

And even though >''7 maintains in 201277 P9» -
— 9P RY 2N HYAY DOIN (vomnn Ynnnn M7 0w 3,80 97) PVIINT RIP PI92)

And in the first P2 of Pux noon that a n"'¥a® o910 is not 771, so how can he
maintain here that 17°31 73p 120> x°xn a2

mooIN responds that *"1 maintains that the ruling of *1p X% i1"va% 09N -
— DOINY BY9D 229N MYN PNT AIWIY 39T 1M THYW RYT NI NPYT 139N

Is valid only specifically in a situation where the idea of 7 ws1% 217 % is
not applicable for instance in the case of a loan where the % does not owe

anything to the 210, hence the 00 cannot grab from the 7% for himself -
$1P M NIINT NNINNA YaN

However by a nx>x» where there is the concept of "1 w515 *317 an (for
he could have acquired the X>¥» for himself) then his friend is 7292 the mxoxn.

SUMMARY
" distinguishes between 11"v2% 0910 (where there is no 1) where he is not
7117, and 177207 aR°%n 7923 (where there is a 17) and therefore he is 731p.

THINKING IT OVER

1. If 12381 the M» owes one hundred 17 to NWnAY and two hundred 197 to "
(and he also owes 1717 three hundred 117); can 1v2w be 0910 from J21X7 on
behalf of »12 (and how much)?*

2. Can we differentiate between the 2°7rX% ar1 by a m>» and by a x'¥n?’

' The X3 previously cited the view of 1" 1" that 1°2n 73p X% 1929 X% 77237 because they maintain
71p XD 0IRY anw oIpna 1"'vak 09In. It should follow that *"1 who also agrees that 73p 82 1'"'va% 090, should
also rule that 17217 71p X7 177207 IR°%n 7°230!

% See n1"nx # 107-8.

? See v MR *"92.
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